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13.2 | 9y’ —15x+4=3

9x" =13x+7=0

Because v—27 is not real.

both roots are not real.

OR

A=b"—4ac
=(-15) - 4(9)(7)
£.27

Because A <0, the
equation has no

real roots.

¥ standard form

¥ substituting in A or formula
for roots of quadratic
equation

ol
v .e,ch_.bnlmq
18

v conclusion

(4)

2.1 _M:\_.M‘N: i

+1

=1

n=2)=(-3) 4 —

v 8 =]
v writing as prime bases
¥ converting surd o exponent

v simplification using laws

¥ answer
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v writing with bases of 2 and 5

v surd to exponential form with
base 10

¥ simplification
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1

| Substitute (2:4)in y==x+c:

By

_ b
p=—x+3
: 2
Equate equations of AB and OE:
1
— 2N =3
pd

o
]
|

w | o

101 ] 5 2 ¥ substitution into distance
| - = e fle ) 2
e = -0y +0-2)
—_—
< ¥ answer (2)
4.1.2 AB =20 v correct answer
(1)
4.1.3 | By inspection: p=-2 and ¢ =2
(D 1s 4 units to left of C; therefore A also 4 units to left of B. ,
D is 2 units below C; therefore A also 2 units below B.) ¥ value of p
v value of ¢ (2)
OR
OR
Midpeint of BD 1s
i L
| Aoty IT,_:?:
L8t B |2
1 +3 +0
— kT and HHQ
2 2 2
v value of p
“ p=-2 and g=2 ¥ value of ¢ (2)
[4.1.4 C4-2 | ¥ substitution
oy, = —— M v gradient of AB
Ly, =2 v gradient of OE
The equation of OE is y = -2x AR )
4.1.5 Equation of AB:

v equation of AB

¥ equating equations of AB and
OE

v value of x-coordinate
v value of y-coordinate

4)

4.2.1 _7-4 1
My = PP v gradient of PS
s 1 > Gy |
tan ASQ =m,, = 5 v tan ASQ = m,, |
L%Q =657 ¥ answer
(3)
422 _—6-4 5
Mgy = =3 2 v gradient of RQ
tan .ﬁu?lu =My,
TAO = 180" — 68,20°
=111.80° v size of 710
ROS =11180° — 68,20 ¥ subtracting
_gsase v answer
AR 4)
423 _=6-(-11}
M T T ¥ substitution
5
=5 v value of gradient |
5 Ve i ente |
My, = = equal gradients
Because m,, = my, , N, Rand Q are collinear. v concluding
Take note:
Alternatively the gradients of NQ and NR may also be shown
to be equal. _
Or: NQ and QR. (4) |
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